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A M

M 2472 4% KR (ME - SA)/Y/HATE - D5
ool 40| S8 2 22X Y = (69l &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
OZE3 A 18,000
XY NEEXS 18,000,000& * 14! 18,000
= 16,200
L= 900
= 900
KNEGH 28 (e - BAINH/RPALERRA) 833,019 3,440,400 A2,607,381
EXARX AtE =& 196, 159 330,400 A 134,241
SN AtEF& 29,900 30,400 A 500
201 LetEIH| 5,000 5,000 0
01 AtE22/Hl 5,000 5,000 0
OdHER ¥ SE+=2 500,000& *10& 5,000
202 O4Hl 2,400 2,400 0
01 WY 2,400 2,400 0
OFXsx 2= 60,000 x4 H+10 2,400
203 HRF&HI 2,500 3,000 A500
03 AZF=XHRFAH| 2,500 3,000 A 500
OfXN=X.s35HA =4 2,500,000& 2,500
301 LptEaag 10,000 10,000 0
12 JIEtE24 3 10,000 10,000 0
OFNRA 22AmrEX Li= 10,000,000 * 14! 10,000
303 L&z 10,000 10,000 0
01 Z&3 10,000 10,000 0
OFNRX R332 ZLi=z 10,000,000 * 14! 10,000
SUENE HIOHES2 29 166,259 300,000 A 133,741




SN FHD
HE: BN BASH (MY 54|/ RAUE TR
AH
=]

&t ENFX MY =X (&9 H
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

101 el 21,439 0 21,439

04 JIZtMIZ22XSE =+ 21,439 0 21,439
OSfxHIOtarst2t 1A | 21,439
—AADE(2Y) 19,789
Jlea 33,0003 2% 200 13,200
- =i 33,000 x2H 48 3,168
SRS DN =y 33,000 x2H 15 990
4HEE 17,358,000 *14% 2,431
—EX2(5Y) 1,650
Jl2as 33,0003 x5 10 1,650

201 B3| 13,600 0 13,600

01 AtR 22l 2,000 0 2,000
Oxzdansta E2SMA 2,000
—AxME S S ESHE & EX S800& +2,5000H 2,000

02 =234l 11,600 0 11,600
OAUEZHMEME RS2 ZER= 11,600
—AEMEMEDS 2 HMIIRI 50,000 +8& 400
— UMM NS MI|RF 1,400,000 +8& 11,200

401 A EHIL 204 124,000 300,000 A 176,000

01 Al&H| 124,000 300,000 A 176,000
OgHEad= A 100,000, 000& » 14 100,000
Odx=HMgdaustat gXlate 2,400,000,000&*1/100 24,000

405 KHaHFESH| 7,220 0 7,220

01 TR =SS HSHI 7,220 0 7,220




SN B D
HE: JAZH g8 - SAIIY/RALENRA)
&t ENFX MY =X (&9 H
- _ N H
SN BB SR(S) - MRAY - BES skl e s
OAxZMEM&ust2 Tta & S FHS 7,220
— A 200,000 »3H 600
— X AOI T 140, 000& *304 420
—&x 200, 000& * 104 200
— 2 Xt 100, 000& 54 500
—Z&FH 1,500, 000& *3CH 4,500
—Zeglgy | 700,000 *1CH 700
—gdds 300,000 = 1CH 300
SR DIy 636,860 3,035,590 22,398,730
SAUKRX IS ZLHAS 636,860 3,035,590 A2,398,730
NE=1:[E= i e ] 336,860 1,035,590 A698,730
A&HI 332,540 1,031,180 A698,640
OF X=X gdst JBtxd B A 32,540
— & Al Z A Y| 300,000,000 *3.39/100 10,170
—Z2EE2Y =2 170,000 = 1302 X 22,100
— 2B I 300,000,000% *9/10,000 270
Ot etXl & s3HX FHOlE FeUSJAG (FA, =5, 22 100,000,000 =37 & 300,000
A &SI 4,320 4,410 A90
OJIEtZHI 600,000,000 *0.72/100 4,320
gt t=0l s 300,000 0 300,000
DIt =2 X 300,000 0 300,000
OFXsX 43 JBtxd I A 300,000,000 * 14l 300,000
DESV(AS=ZX/FHAASKL) 1,208,766 344,200 884,566
= 623,178
= 105,476




S ZHL
FH: DEST(MISA/FHLAHNSAE)
LEF

©el: DEEW (9l @2
_ _ _ HEc -
SH - EB - S(BH) - MBAY - BES 0l & 24 Sl BB
= 71,668
, 2 428,444
Inf=E-bJ 1,228,766 344,200 884,566
2 623, 178
= 105,476
= 71,668
2 428,444
NEREDEELS 42,480 0 42,480
2 21,240
= 10,620
2 10,620
01 YsrE a3 42,480 0 42,480
2 21,240
= 10,620
2 0,620
12 JIEHE A3 42,480 0 42,480
O=THIAI 42,480
o =P 42,480,00021 %14} 42,480
2 21,240
= 10,620
2 10,620
ST E L 42,480 0 42,480
2 33,948
= 4,248
2 4,284
01 YerEa3 42,480 0 42,480
2 33,948
= 4,248
2 4,284
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433,816 344,200 89,616

105,476
328,340

M) AT

01 Al£Hl 431,000 342,000 89,000
391,000
391,000,000 14! 391,000
105,476
285,524
o4th 2= 40,000,000& * 14| 40,000

2204l 2,816 2,200 616
OZ332Z A JIEHEH] 391,000,000 %0.72% 2,816

M) M

S|Y2E TEME A(EX) 709,990 0 709,990
567,990

56,800
85,200

o

101 1A H] 345,312 0 345,312
268,914
30,558
45,840
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SA B
FH: DEST(MISA/FHLAHNSAE)
UE=

oot 1REA (ct9: &2
SA BB SRA(BH) - HRAY - BES 0l & e Hl =2

04 JI2ZtMZ22XSE+ 345,312 0 345,312
O=EHEZ AL 345,312
-2y 276,249,000 *14] 276,249
= 215,131
= 24,446
= 36,672
—uw=H| 24,172,000 * 14! 24,172
= 18,824
& 2,139
= 3,209
—40EE= 44,891,000 14! 44,891
= 34,959
= 3,973
i 5,959

201 et H| 22,710 0 22,710
= 22,710

01 AtE222/Hl 22,710 0 22,710
OZTHIEZ ALY 22,710
-3z ASH LU 11,360,000& * 13l 11,360
= 11,360
-3z EE2= MZE 2,270,000& 53] 11,350
= 11,350

202 O4dl 45,440 0 45,440
= 45,440

01 =LHAbI 45,440 0 45,440
O=&EHEXZ A 45,440
—5|YZ=2 FAAHI 568,000, 000& *0.08 45,440
= 45,440




S ZHL
FH: DEST(MISA/FHLAHNSAE)
LEF

o9l DREX (el
- _ _ NUE &
SN HB L SA(3H) - MRAY - B S 0 & 2 i {ImEF]

206 M=l 296,528 0 296,528
= 230,926
& 26,242
= 39,360

01 M=H| 296,528 0 296,528
O=EHIEx=AS 296,528
—3|UZ2EZNE W=7 296,528,000& 296,528
= 230,926
= 26,242
= 39,360

MOIZH G (MY - SAINY/AMPXE - DT 1,625,564 2,150,732 A525,168
= 291,000
& 574,000
7 = 760,564

NaEgd 5 =4 306,220 1,940,380 21,634,160
e 200,000
= 106,220

SHAEZTATAIEY 22 9,400 10,200 A 800

201 et HH| 9,400 9,000 400

01 AtR22/Hl 4,000 3,600 400
Ox2gAE S8 HLEH =2 1,200,000& * 13l 1,200
OSLESTATAIE AYE 3| 400,000& =13 400
OFSANE 28X HZH 800& *3,0000H 2,400

02 =234l 5,400 5,400 0
OBLEZTAZANE 323 (I, =%) 450,000& *123] 5,400

THeHAIE 4 SHALY 46,820 80,180 233,360
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HE: MOIZH CHESH( MY - SADY/MHEE - DT}

ool AAH 2 A4 (el @
£491 (3 ) - Lo e 52

2ot 3| 7,040 7,200 A160

3244 7,040 7,200 A160
OANE =38 100,000& «12& 1,200
OANY 552 80,0003 »4JH Al & +1228 3,840
OESA=EA 2,000,000& * 14 2,000

2utga=s 4,180 1,980 2,200

HALAHI 2 A= 4,180 1,980 2,200
Osdlelgl, 2 55,0003 12 +33| 1,980
OHTX dSAE HXI0E & 4 55,0003 x20H #23| 2,200

307 2iz2tol A 35,600 71,000 A35,400

02 YIS EX 23,600 31,000 AT,400
O SANTAESA 2D &0l 300,000, 000& x5/100 15,000
OMcHAIY =2tHd Hatx Ha 3,600
—YdEANF (Y, 29) 100,000 x12& *20H 2 2,400
— 2, SLAF (0L, &) 50,0003 123 201 & 1,200
OZZH A AN BEH X 5,000
—0td, SLESAEANY 50,000 1002 5,000

04 2IZHHALE & 12,000 40,000 /28,000
OMeHAIE 2feld|l &AL XIS 12,000
—MehAIE &2lD] OIBIEHAL X3 1,500,000 23] «4 00 Al & 12,000

MehAly g4t 250,000 1,850,000 A 1,600,000
< 200,000
= 50,000

401 Al&ZHI X2 250,000 1,850,000 1,600,000
= 200,000
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A M

M NeIFH HESH(MY - SAIY/MHEE - DEFY)
ool AN B 24 (B9 & 2)
A B S(E) - NRAY - BES 0f & o e HIDZ2
o 50,000
01 Al&HI 250,000 1,843,364 1,593,364
OEHIEX ALY 250,000
— O AE HHelE =4 250,000,000 * 14| 250,000
< 200,000
o 50,000
Hux 88 S5 1,273,350 130,668 1,142,682
= 291,000
< 374,000
o 608,350
OHX ot & 9,030 11,580 A2,550
201 Bt 9,030 9,180 2150
01 Ar= 2t 9,030 9,180 A150
ONUXNES 2= M 4002 »2,00001 *35 2,400
OdRE SEZA I 7Y 1,500% 3004 450
OdRE SEHA AIZTHH 10,000& *307H A #33] 900
O3 ELPItA HE S A 33,0002 160K 2=+ 12] 5,280
MUX 22AtE SH(EHl) 270,000 84,000 186,000
3 135,000
o 135,000
402 2I2tX=01A 270,000 84,000 186,000
= 135,000
= 135,000
01 Bl EEx 270,000 84,000 186,000
OEHIEXAEY 270,000
— R EZSSAI (21000t 7, EHYE S 200t+) 270,000,000 * 14! 270,000
= 135,000




A M
HE: MOIZH CHESH( MY - SADY/MHEE - DT}

Sel: olUA 9NN B2 (B9 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
| = 135,000
HUX 2= A EH(XHA) 23,320 35,088 A 11,768
201 LEH2HH| 1,120 1,120 0
01 AtE22/Hl 1,120 1,120 0
Ot Jt12s AM&Es Xl 1,120
—=d7] 120,000 8 & 960
—-LESS 40,000 *4H 2~ 160
401 Al&HI YL S OHYI 14,200 30,968 AN 16,768
01 Al&H| 14,200 30,968 A 16,768
OAMSIDII tHo1dE XtH ZEIE dXAE 10070 2~ +32, 000& 3,200
OZ3AlE WS LEOZH WM ALY 10094 2~+110,000& 11,000
402 2I2H X =01 8,000 0 8,000
02 QI2HCHEH AL HI 8,000 0 8,000
O=II=ME2E =Sk AHELY WA 202+=*+400,000 8,000
AMSISXAIE NSHHEAIE X 145,000 0 145,000
& 60,000
= 85,000
401 A EHIL 201 145,000 0 145,000
& 60,000
= 85,000
01 Al&HI 145,000 0 145,000
OZHIEZ ALY 145,000
—S2HE0IE Xg dHY AL 37,000,000& 37,000
& 11,000
= 26,000
— QoI EI0IE XIg Witegh Al- 55,000,000& 55,000
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A M
HE: MOIZH CHESH( MY - SADY/MHEE - DT}

ool 0T 9EN 22 (69 &2
- _ _ NUE &
SA-HH(BH) - HEAY - B Ofl AF o4 il it o HRZ2
= 17,000
2 38,000
—BH2QUR XY YUY 53,000,002 53,000
= 32,000
2 21,000
OISR Y ZLRE LY X 244,000 0 244,000
= 92,000
2 152,000
401 AlZHIL 2O 244,000 0 244,000
= 92,000
2 152,000
01 Al&H] 242,243 0 242,243
SELCEINL- 242,243
—0I23IT EBHYBLTAL S (220H2) 242,243,0002 242,243
= 92,000
2 150,243
03 AIZR0iHl 1,757 0 1,757
CELIIZEIVE 1,757
—OHS3I 2 BHYTLFAL X 244,000,000% 0. 72% 1,757
RHMN YT LELH LAALY 462,000 0 462,000
= 231,000
= 69,000
2 162,000
401 Al&HIL 20| 462,000 0 462,000
= 231,000
= 69,000
2 162,000
01 Al&H] 458,673 0 458,673
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A M
HE: MOIZH CHESH( MY - SADY/MHEE - DT}

@ WX HER B3 (&2
_ _ _ NEo
PA-HH-H2A(SH) - MY - BES Ol kK Ojv‘;g'g Huns
O=HIBE T A 458,673
— A EHSZEEAIYE &EX 458,673,000 * 14! 458,673
= 231,000
== 69,000
= 158,673
03 AIE=204l 3,327 0 3,327
O=HI BT A 3,327
—ZEA EHSZEEAIYE &EX 462,000,000 +0.72% 3,327
HASYLOISH LA-SALUHAILSEX 120,000 0 120,000
= 60,000
= 18,000
= 42,000
401 AlEHIL 20 120,000 0 120,000
= 60,000
== 18,000
= 42,000
01 A&HI 119, 136 0 119,136
O=HIBZ A 119,136
—=dlgot AL MAIL X 119,136,000 *14] 119,136
= 60,000
= 18,000
b 41,136
03 AIE=20itl 864 0 864
O=HIBx A 864
—Sdg0ot ASHENAL SX 120,000, 000& *0.72% 864
ANHS F=AHEZMAAS 29,620 67,920 /38,300
I IEAAE NS AL 29,620 67,920 38,300
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A M

M M2ZR HESH (A - ZSADYH/MHEE - DESF)
B MEAHS FHEIHEAL (el &
- _ _ XN -
SN EB . SR(BH) - MRAY - BES 0l &k 24 e DB

201 Let2d| 10,000 14,580 A4,580

01 AtE22lHl 10,000 14,580 24,580
O=0IN=MEEE =X HIAIE HAATS (SHEE 2 H]) 48,6003 1004 2~ 4,860
O30 =MEEE 23X HIAIE HAAS (2EEL14T) 51,4002 * 10001 2 5,140

402 2I2H X =01 19,620 53,340 233,720

01 BIZPGEEX 19,620 53,340 A33,720
ORI =MEZE =3 HAAE HAAIS (2EE 2 145) 218,000 *907H & 19,620

2HIA AAES Y 20ty 16,374 11,764 4,610

StotE A= 2el 12,232 10,864 1,368

101 Q14| 4,752 4,464 288

04 JIZHMIZ2XEE =+ 4,752 4,464 288
O8It 22345 ZLIHRY ozt 33,000 x2H 6L « 123 4,752

201 et 5,080 4,000 1,080

01 AtE22/Hl 5,080 4,000 1,080
Oget=&H| 1,300
—SJetd g8 9 A 50,000& 1004+ 12l 500
—=2tE 88 dHX A& 800& *1,0000H 800
OSIHHHARS 2S=+F 70,000& x20H »23| 2,800
Ossgdadudgos 234 70,000% 7 H*23] 980

202 (4Hl 2,400 2,400 0

01 =LA bl 2,400 2,400 0
Ot € olHXI22el 20,0003 »2ZH 60 2,400

SE AN A= 2tel 4,142 900 3,242
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A M

HE: MOIZH CHESH( MY - SADY/MHEE - DT}
Ol AHIT BOlES Y SO (el @
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
101 el 792 0 792
04 JIZtMIZ22XSE =+ 792 0 792
OHEI HIIZA 12 33,0003 x2Z 123l 792
201 EH2HH| 3,350 900 2,450
01 AtSR22/Hl 3,350 900 2,450
OAHEI AL S WA 100& +1,5000H 150
OAHEI AL |14 400,000 x8& 3,200
AJES XNYSI| (MY - SATY/MHETE - DEF}) 2,939,700 3,718,322 NT78,622
= 2,400,000
= 539,700
A ALY 2,710,000 2,450,000 260,000
& 2,400,000
= 310,000
ANESA HARS & NASA A5t 174,000 260,000 A 86,000
& 174,000
201 et 25,000 89,000 A64,000
= 25,000
01 AtER22/Hl 10,000 89,000 AT79,000
O ZE2H 10,000
—2NEos 29 & AIE A 4,000,000 * 14| 4,000
& 4,000
—2LHE & 2ZEta 4,000,000 14 4,000
= 4,000
— A stss0tel 29 2,000, 000& * 14 2,000
& 2,000
03 A2 HI 15,000 0 15,000
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A M

HE: AJES KNGS (& - SAI|H/MHETE - DE35)
ol MEHAY (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
OZE3 A 15,000
— oA EX S OHE 15,000,000& * 14! 15,000
= 15,000
202 O4Hl 10,000 0 10,000
= 10,000
03 22AHR0HYI 10,000 0 10,000
OZE3 A 10,000
— &2 S DFEAY 10,000,000 * 14 10,000
= 10,000
301 et a= 39,000 121,000 282,000
= 39,000
07 212te1=2l ¢ d| 10,000 20,000 210,000
OZE3 A 10,000
— &A= TS WFR A 10,000,000& *14! 10,000
= 10,000
10 HAAHIE &3 29,000 101,000 A72,000
OZE3 A 29,000
—L¢dEos 2 & /3Az A 2,500,000 14 2,500
= 2,500
—2LHE ¥ 2EEIIE 2,500, 000& 14 2,500
& 2,500
— A stE5s0tel 2 24,000,000& * 14! 24,000
= 24,000
307 QI2+0IA 100,000 50,000 50,000
= 100,000
05 2IIRAES 100,000 50,000 50,000
OZE3 A 100,000
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A M

M MIEES NG SI (MY - SAD|G/AMHETE - NEF)
CHol: MBS ALY (B9 &2
SA BB SRA(BH) - HRAY - BES 0l & e Hl =2
—Xgs Al obatdiol 29 65,000,000 * 14! 65,000
& 65,000
—sdsot 2= 2 clUsd 15,000,000& *24! 30,000
= 30,000
—XNggdd 29 5,000,000 *14] 5,000
= 5,000
NESA ASFEAMT 1,568,000 1,540,000 28,000
= 1,468,000
= 100,000
101 14| 25,000 0 25,000
& 25,000
04 JI2ZtMZ22XRSE+ 25,000 0 25,000
O&FE2A 25,000
—MAOISEH Mabztg| 2R 12,500,000 *14] 12,500
= 12,500
—N& AEE Ze|elR 12,500, 0003 *14] 12,500
= 12,500
202 O4H| 3,000 0 3,000
= 3,000
01 =LA b 3,000 0 3,000
OZE3 A 3,000
—MAOIAM(EE )2, Hosd 8 3,000,000& 14 3,000
= 3,000
206 M=l 20,000 20,000 0
= 20,000
01 M=4| 20,000 20,000 0
OZE3 A 20,000

_18_




A M
HH: MIIE2 NFASUSI(MY - SAIY/MHETE - DEFH

I

SRl A E S ALY CEREE
SN SRI(BH) - MRAY - BES 0] &k o8 e Hl =2
—HZHIESY E27Y 20,000,000& * 14! 20,000
& 20,000
307 gI2told 20,000 90,000 270,000
& 20,000
04 CIZFSHALE X 20,000 30,000 A 10,000
O&F=2A 20,000
—SHHele Al AlASE 20,000,000& * 14! 20,000
= 20,000
402 QI2bXH=0|H 1,500,000 1,430,000 70,000
2 1,400,000
= 100,000
01 SI2t =2 1,500,000 1,430,000 70,000
OZE3 A 1,500,000
—MATHEHE R = S 460,000,000& * 14! 460,000
= 360,000
= 100,000
— A SR MAKIRA 400,000,000& * 14! 400,000
= 400,000
- EE MM XA 500, 000& *40= Jt*50% 10,000
4 10,000
—&l2d AATHEE Ol S 50,000,000 * 14! 50,000
& 50,000
—QhA ALY SHAN(R A, BX) 200,000,000& * 14! 200,000
= 200,000
—QhaH/d Beie o I X 80,000,000& »14! 80,000
& 80,000
—A&A/H REINSAE 300,000,000 14! 300,000
& 300,000
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A M

HE: AJES KNGS (& - SAI|H/MHETE - DE35)
CHol: Al ALY (==L
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
Sreratal HASIALSY 968,000 650,000 318,000
= 758,000
i 210,000
201 et 150,000 190,000 240,000
= 150,000
01 AtS22/Hl 150,000 190,000 240,000
OZE3 A 150,000
—oty, M S S2011E 90,000, 0003 * 14 90,000
= 90,000
—&bA, MM EMI BEES 60,000,000& * 14! 60,000
= 60,000
307 BI12+0I A 503,000 300,000 203,000
= 443,000
= 60,000
02 BIAANEE 103,000 0 103,000
OZE3 A 103,000
—sSMHE FEH ]X 3,000,000& 14 3,000
= 3,000
—&ADls 28 MELA 2Z(0tE0) 100,000, 000& * 14! 100,000
& 100,000
04 CIZHAAIE £ 380,000 300,000 80,000
OZE3 A 380,000
—AHAH SR JHAEor & A 360,000,000 14l 360,000
= 300,000
= 60,000
- EE & TE @A 10,000,000& *22l 20,000
= 20,000
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A M

HE: AJES KNGS (& - SAI|H/MHETE - DE35)
CHol: Al ALY (==L
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
05 BItRE = 20,000 0 20,000
O&F=2A 20,000
—HSUSE 20,000,000& * 14! 20,000
= 20,000
401 Al&HI YR OHYI 300,000 60,000 240,000
= 150,000
i 150,000
01 Al&H| 300,000 60,000 240,000
O&E=2A 300,000
—bha 282 AX(YEME2 W) 300,000, 000& * 14 300,000
& 150,000
= 150,000
402 2I2H X =01 & 15,000 100,000 A 85,000
& 15,000
01 A2 E X 15,000 100,000 A 85,000
O&E=2 A 15,000
— A S ML QIBDI(HD) 15,000,000& * 14! 15,000
= 15,000
HIIE2 NFGSI| A 229,700 1,268,322 A 1,038,622
allEE NFesI| =8 229,700 20,000 209,700
201 et 2,700 0 2,700
01 At 2,700 0 2,700
OFAIIES SR AMRE = 70,000& x5H *23] 700
OadlEe NS XNGE &2 Al 2,000,000& 13l 2,000
306 == 5,000 5,000 0
01 293 5,000 5,000 0




SH: BHDB
HE: M)|ES Koo

=7
=
9l 4IIES XIBHS)

el 2SIl A (2o ®e
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
Ost=2XNIAHENH EHS 5,000,000& 5,000
308 NXISHHSOIH 2,000 15,000 A 13,000
05 XMXHMAEES 2,000 15,000 A 13,000
O&=SLEAIEES A, 2RE2 2,000,000& 2,000
402 2I2H X =01 & 220,000 0 220,000
01 BIZPGEEX 220,000 0 220,000
O& &JIE= 0SIt30 &3 &3 220,000
— I 50,000,000& 1040t = 50,000
- 40,000,000 *2oH 0t =2 80,000
-& d 30,000,000& *3JH0t= 90,000
Y 2AZHI(Z M) (IIEH/IIEH 70,050 69,640 410
QI 2E | 4,200 4,200 0
eI 4,200 4,200 0
203 HRF&HI 4,200 4,200 0
04 BEASSEHFRFEHI 4,200 4,200 0
ORN2IHRF4HI 350,000& 123 4,200
Jl=&Hl 65,850 65,440 410
Jl=2&Hl 65,850 65,440 410
201 Let2HH| 35,100 36,640 A 1,540
01 AtE22/Hl 35,100 36,640 A 1,540
ORNESH 1,940,000& 159 29,100
O=&tl 4,200
—E204lH 7,000& «15H 402! 4,200
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A BHL
M A2 IHI(ZHD)(OIEH/IIE)
el Jl=2&l (chel: &3
= _ — NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2
OZDESAD] Xt 150,000 *12& 1,800
202 O 30,750 28,800 1,950
01 =AY 30,750 28,800 1,950
OZ LI 100,000& 15«12 18,000
O&2 ¢l 85,000& 15 10 12,750
MRPES (M) (MY - SAIG/MATE - DESFL) 800,000 500,000 300,000
LHEAHHXI & 800,000 500,000 300,000
LHEHHKXIE 800,000 500,000 300,000
701 JIEtRI AN ES 800,000 500,000 300,000
01 JIEtIHEE= 800,000 500,000 300,000
s3HAXLE SE3H 8E= 800,000,000& 14! 800,000
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